gini=0.0
samples =9
value = [9, 0]
class = collect

distance <= 14.5
gini = 0.484
samples = 200
value = [118, 82]
class = collect

Tru)e/

paid_on_time <= 0.5
gini = 0.437
samples = 93
value = [30, 63]
class = no-collect

!

fuel <= 1508.0
gini = 0.375
samples = 84
value = [21, 63]
class = no-collect

:

False

odour_intensity <= 7.156
gini = 0.292
samples = 107
value = [88, 19]
class = collect

:

T~

garbage weight <= 49.659
gini=0.116
samples = 81
value = [76, 5]
class = collect

/

gini = 0.0
samples =7
value = [7, O]

class = collect

space_occupied <= 0.856

gini = 0.298
samples = 77
value = [14, 63]
class = no-collect

class = collect

~

days_since_last_collection <= 24.5
gini = 0.095
samples = 80
value = [76, 4]

days_since_last collection <= 13.5

gini = 0.497
samples = 26
value = [12, 14]
class = no-collect

b\

gini = 0.0
samples = 1
value = [0, 1]

class = no-collect

gini = 0.0
samples = 8
value = [8, 0]

class = collect

—

l

value =

days_since_last_collection <= 4.5
gini = 0.187
samples = 67

class = no-collect

[7, 60]

garbage type <= 1.0
gini = 0.42
samples = 10
value = [7, 3]
class = collect

S

N

b

class = collect

gini = 0.0

ini = 0.391
samples = 65 sgmples =15
value = [65, 0] value = [11, 4]

distance <= 19.0

class = collect

)

fuel <= 11519.5 fuel <= 16955.0 ini = 0.0 odour_intensity <= 8.841 fuel <= 6122.0
gini = 0.48 gini = 0.121 sgmpl_es _ 5 gini = 0.219 gini = 0.444
e iy value = [0, 2 e e &
et o class = no-collect ’ a ’
class = collect class = no-collect class = collect class = no-collect

e

S

gini = 0.0
samples = 3
value = [3, 0]

class = collect

gini=0.0
samples = 2
value = [0, 2]
class = no-collect

garbage_weight <= 0.612 ——
an! | 0'095‘1 sagreryI:ﬂ_eé) 2,
sempes - value = [1, 0]
value = [3, 58] =L
class = no-collect class = collect

/

\

gini=0.0
samples = 8
value = [0, 8]
class = no-collect

LN

gini = 0.0
samples =9
value = [9, 0]

class = collect

gini = 0.0
samples = 6
value = [6, 0]

class = collect

VANRN

PN

Space—oc.‘“?pie(g";: 0.936 gini = 0.0 gini = 0.0
se?rlrrl“ I=es T o samples = 2 samples = 4
ol T value = [2, 0] value = [0, 4]

Y class = collect class = no-collect
class = collect

/N

!

distance <= 10.5

gini=0.5
samples = 2
value = [1, 1]

class = collect

garbage_type <= 2.5
gini = 0.065
samples = 59
value = [2, 57]
class = no-collect

PN

gini = 0.0
samples = 1
value = [1, 0]

class = collect

gini=0.0
samples = 1
value = [0, 1]
class = no-collect

gini=0.0
samples = 46
value = [0, 46]

class = no-collect

gini = 0.0
samples = 1
value = [0, 1]

class = no-collect

gini = 0.0
samples = 1
value = [1, 0]

class = collect

gini = 0.26
samples = 13
value = [2, 11]

class = no-collect

garbage weight <= 15.925

SN

odour_i?r:iens(i)t); ZZ 5.724 gini = 0.0
gampleé _3 samples = 10
value = [2, 1] value = [0, 10]
Y class = no-collect
class = collect

\

.

gini =
samples = 2
value = [2, 0]

class = collect

gini=0.0
samples = 1
value = [0, 1]
class = no-collect

distance <= 20.0
gini = 0.346
samples = 18
value = [4, 14]
class = no-collect

\

days_since_last_collection
gini = 0.48
samples = 10
value = [4, 6]
class = no-collect

<=20.0

/N

gini = 0.0 paid_on_time <= 0.5
samples _ 5 gini = 0.375
value = [2, 0] \‘Z[Tep I=es[2=’ g]
class = collect class = no-collect
- / space_occupied <= 0.243
ini=0.0 o
sa?mples _ gini = 0.245
value = [1, 0] f;?é"f?f g]
class = collect class = no-collect

/N

gini=0.0
samples = 1
value = [1, 0]

class = collect

gini = 0.0
samples = 6
value = [0, 6]

class = no-collect




